Transfers Report

This report contains the transfers results.

Contest Name	Ward 1 - Almond
Valid Votes	13,909
Positions to be Filled	4
Quota	2,782

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Annemarie BAILLIE	Workers Party of Britain	61
Andrew BROUGH	Scottish Green Party	736
Stewart GEDDES	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	148
Fred HESSLER	Scottish Labour Party	688
James HILL	Scottish Conservative and Unionist	1,040
Kevin LANG	Scottish Liberal Democrats	5,904
Norrie WORK	Scottish National Party (SNP)	2,911
Louise YOUNG	Scottish Liberal Democrats	2,221
Lewis James YOUNIE	Scottish Liberal Democrats	200
	Total	13,909

Candidate Kevin LANG Elected with 5,904 votes, being in excess of the quota of 2,782 Candidate Norrie WORK Elected with 2,911 votes, being in excess of the quota of 2,782

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Kevin LANG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Annemarie BAILLIE	7	0.52879	3.70153
Transfer to Andrew BROUGH	120	0.52879	63.45480
Transfer to Stewart GEDDES	9	0.52879	4.75911
Transfer to Fred HESSLER	103	0.52879	54.46537
Transfer to James HILL	230	0.52879	121.62170
Transfer to Louise YOUNG	5,137	0.52879	2,716.39423
Transfer to Lewis James YOUNIE	214	0.52879	113.16106
No further preference	84	0.52879	44.41836
Not transferred due to rounding			0.02384
	Total		3,122.00000

3,122.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Louise YOUNG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Annemarie BAILLIE	2	0.43654	0.87308
Transfer to Andrew BROUGH	67	0.43654	29.24818
Transfer to Stewart GEDDES	6	0.43654	2.61924
Transfer to Fred HESSLER	50	0.43654	21.82700
Transfer to James HILL	77	0.43654	33.61358
Transfer to Lewis James YOUNIE	1,944	0.43654	848.63376
Transfer to Annemarie BAILLIE	7	0.23084	1.61588
Transfer to Andrew BROUGH	99	0.23084	22.85316
Transfer to Stewart GEDDES	21	0.23084	4.84764
Transfer to Fred HESSLER	95	0.23084	21.92980
Transfer to James HILL	201	0.23084	46.39884
Transfer to Lewis James YOUNIE	4,530	0.23084	1,045.70520
No further preference	75	0.43654	32.74050
No further preference	184	0.23084	42.47456
Not transferred due to rounding			0.01381
	Total		2,155.39423

2,155.39423

Transfers Report

This report contains the transfers results.

129.00000

Stage 4 - Surplus of Norrie WORK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Annemarie BAILLIE	36	0.04431	1.59516
Transfer to Andrew BROUGH	1,500	0.04431	66.46500
Transfer to Stewart GEDDES	47	0.04431	2.08257
Transfer to Fred HESSLER	387	0.04431	17.14797
Transfer to James HILL	50	0.04431	2.21550
Transfer to Lewis James YOUNIE	243	0.04431	10.76733
No further preference	648	0.04431	28.71288
Not transferred due to rounding			0.01359
	Total		129.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Annemarie BAILLIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew BROUGH	19	1.00000	19.00000
Transfer to Stewart GEDDES	10	1.00000	10.00000
Transfer to Fred HESSLER	12	1.00000	12.00000
Transfer to James HILL	1	1.00000	1.00000
Transfer to Lewis James YOUNIE	4	1.00000	4.00000
Transfer to Stewart GEDDES	2	0.52879	1.05758
Transfer to Fred HESSLER	1	0.52879	0.52879
Transfer to Lewis James YOUNIE	1	0.52879	0.52879
Transfer to Andrew BROUGH	1	0.43654	0.43654
Transfer to Stewart GEDDES	1	0.43654	0.43654
Transfer to Andrew BROUGH	1	0.23084	0.23084
Transfer to Lewis James YOUNIE	2	0.23084	0.46168
Transfer to Andrew BROUGH	15	0.04431	0.66465
Transfer to Stewart GEDDES	3	0.04431	0.13293
Transfer to Fred HESSLER	4	0.04431	0.17724
Transfer to James HILL	1	0.04431	0.04431
Transfer to Lewis James YOUNIE	1	0.04431	0.04431
No further preference	15	1.00000	15.00000
No further preference	3	0.52879	1.58637
No further preference	4	0.23084	0.92336
No further preference	12	0.04431	0.53172
Not transferred due to rounding			0.00000
	Total		68.78565

68.78565

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Stewart GEDDES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew BROUGH	19	1.00000	19.00000
Transfer to Fred HESSLER	19	1.00000	19.00000
Transfer to James HILL	44	1.00000	44.00000
Transfer to Lewis James YOUNIE	22	1.00000	22.00000
Transfer to Fred HESSLER	3	0.52879	1.58637
Transfer to James HILL	1	0.52879	0.52879
Transfer to Lewis James YOUNIE	3	0.52879	1.58637
Transfer to James HILL	1	0.43654	0.43654
Transfer to Lewis James YOUNIE	3	0.43654	1.30962
Transfer to Fred HESSLER	1	0.23084	0.23084
Transfer to Lewis James YOUNIE	12	0.23084	2.77008
Transfer to Andrew BROUGH	20	0.04431	0.88620
Transfer to Fred HESSLER	5	0.04431	0.22155
Transfer to James HILL	1	0.04431	0.04431
Transfer to Lewis James YOUNIE	2	0.04431	0.08862
No further preference	54	1.00000	54.00000
No further preference	4	0.52879	2.11516
No further preference	3	0.43654	1.30962
No further preference	8	0.23084	1.84672
No further preference	22	0.04431	0.97482
Not transferred due to rounding			0.00000
	Total		173,93561

Total

173.93561

173.93561

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Fred HESSLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew BROUGH	207	1.00000	207.00000
Transfer to James HILL	56	1.00000	56.00000
Transfer to Lewis James YOUNIE	149	1.00000	149.00000
Transfer to Andrew BROUGH	13	0.52879	6.87427
Transfer to James HILL	11	0.52879	5.81669
Transfer to Lewis James YOUNIE	35	0.52879	18.50765
Transfer to Andrew BROUGH	12	0.43654	5.23848
Transfer to James HILL	3	0.43654	1.30962
Transfer to Lewis James YOUNIE	18	0.43654	7.85772
Transfer to Andrew BROUGH	11	0.23084	2.53924
Transfer to James HILL	4	0.23084	0.92336
Transfer to Lewis James YOUNIE	29	0.23084	6.69436
Transfer to Andrew BROUGH	165	0.04431	7.31115
Transfer to James HILL	25	0.04431	1.10775
Transfer to Lewis James YOUNIE	43	0.04431	1.90533
No further preference	307	1.00000	307.00000
No further preference	48	0.52879	25.38192
No further preference	17	0.43654	7.42118
No further preference	52	0.23084	12.00368
No further preference	163	0.04431	7.22253
Not transferred due to rounding			0.00000
	Total		837.11493

Report Name: Transfers_V0001_Ward-1---Almond_06052022_155454.pdf Created: 06-5-2022 15:54:54

837.11493

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Andrew BROUGH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James HILL	56	1.00000	56.00000
Transfer to Lewis James YOUNIE	353	1.00000	353.00000
Transfer to James HILL	4	0.52879	2.11516
Transfer to Lewis James YOUNIE	63	0.52879	33.31377
Transfer to James HILL	1	0.43654	0.43654
Transfer to Lewis James YOUNIE	42	0.43654	18.33468
Transfer to James HILL	2	0.23084	0.46168
Transfer to Lewis James YOUNIE	57	0.23084	13.15788
Transfer to James HILL	36	0.04431	1.59516
Transfer to Lewis James YOUNIE	394	0.04431	17.45814
No further preference	572	1.00000	572.00000
No further preference	66	0.52879	34.90014
No further preference	37	0.43654	16.15198
No further preference	52	0.23084	12.00368
No further preference	1,270	0.04431	56.27370
Not transferred due to rounding			0.00000
	Total		1,187.20251

1,187.20251